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Solve each problem.

1) Which choice has a 4 with the value of 400 or 4 hundreds?

A. 1,874 B. 2,564 C. 9,483 D. 274

2) Which choice has a 4 with the value of 4,000 or 4 thousands?

A. 2,485 B. 47,931 C. 4,865 D. 9,452

3) Which choice has a 9 with the value of 90,000 or 9 ten thousands?

A. 98,643 B. 582,169 C. 359,724 D. 41,893

4) Which choice has a 5 with the value of 50 or 5 tens?

A. 56 B. 574 C. 935 D. 15

5) Which choice has a 1 with the value of 100 or 1 hundred?

A. 5,714 B. 651 C. 215 D. 148

6) Which choice has a 8 with the value of 8,000 or 8 thousands?

A. 48,716 B. 36,589 C. 72,698 D. 3,851

7) Which choice has a 3 with the value of 30,000 or 3 ten thousands?

A. 72,351 B. 65,837 C. 879,123 D. 35,921

8) Which choice has a 2 with the value of 20 or 2 tens?

A. 52 B. 32 C. 21 D. 297

9) Which choice has a 1 with the value of 100 or 1 hundred?

A. 6,921 B. 381 C. 719 D. 184

10) Which choice has a 1 with the value of 1,000 or 1 thousand?

A. 64,981 B. 9,513 C. 91,863 D. 5,371

11) Which choice has a 3 with the value of 30,000 or 3 ten thousands?

A. 391,458 B. 31,594 C. 26,793 D. 63,785

12) Which choice has a 1 with the value of 10 or 1 ten?

A. 61 B. 164 C. 61 D. 816

Answers

1. C

2. C

3. A

4. A

5. D

6. A

7. D

8. C

9. D

10. C

11. B

12. D
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